Karanor 3anacueix yacreit Bubporura pesepcuBHas Stem Techno RPC 160




Ne n/n ApTuKkyn HanmeHoBaHue Kon-so
1 KS-B8-25 bont M8x25 1
2 KS-08-1 LLlanb6a npynHHaa M8 1
3 KS-08-0 Lanba M8 1
4 P160-005 CuenneHue B cbope 1
5 P160-006 PemeHb KNMHOBOM 1
6 Jsuratens 1
7 KS-10-3 Farika M10 4
8 KS-10-1 Lanba npy»mMHHaa M10 4
9 KS-10-0 LWan6a M10 4
10 P160-007 Pama 3awmtHan 1
11 P160-008 Pbluar apoccenbHOlM  3aC/IOHKM 1

cbope c Tpocom
12 P160-009 PykoaTka 1
13 P160-010 CTOliKa pyKOATKM 1
14 P160-011 AmopTusartop 2
15 KS-B8-25 Bont M8x25 4
16 P160-012 MydTa pesnHoBas coeanHUTENbHAA 2
17 P160-013 BTynka pesmHoBas 2
18 KS-12-0U LWanba 12.5x40x2.5 2
19 KS-12-65 Bont M12x65 2
20 P160-014 Pbiyar xoaa B cbope ¢ Tpocom 1
21 KS-14-3 Farika M14x1.5x7 4
22 KS-14-0 LWan6a M14 2
23 P160-015 Mnnta onopHaA 1
24 P160-016 Bubpatop B cbope 1
25 KS-B10-45 | Bont M10x45 4
26 KS-10-0 LWan6a M10 4
27 P160-017 MoTtopHasa pama 1
28 P160-018 KoKyx NpMBOAHOro peMHsn (BepXHMIA) 1
29 KS-08-0 Lanba M8 2
30 KS-08-1 LWaiba npy*knHHaa M8 2
31 KS-B8-20 Bont M8x20 2







Ne n/n ApTUKYN HanmeHoBaHue Kon-so
1 P160-019 | KoXXyx NprBOAHOIO PEMHSA (HUMKHUN) 1
2 KS-v8-25 BuHT M8x25 1
3 KS-08-1 LWanba npyxunHHaa M8 1
4 KS-08-0U | LWaiba 8.5x32x2.5 1
5 P160-020 | LWkuB 1
6 P160-021 | KpbiwKa noawmnHuKa (c oteepctnem) 1
7 P160-022 | MNpoknagka 4
8 P160-023 | CanbHuk 28x50x10 1
9 P160-024 | KpbiwkKa Kopnyca BubpaTopa 1
10 P160-025 | WTtndT coeanHuTenbHbIn 8x35 2
11 P160-026 | NMpoknaaka 1
12 P160-027 | NoawunnHuk 42206 4
13 P160-028 | CtonopHoe KonbLo P42 5
14 KS-B6-20 | BonT M6x20 13
15 KS-06-1 Waiiba npy*mMHHaa M6 13
16 P160-029 | KpblwKa NoAWmMnHUKA (ryxan) 2
17 KS-B8-60 bont M8x60 1
18 KS-08-1 LWanba npyKuHHaa M8 20
19 KS-08-3 Farika M8 1
20 P160-030 | KonbLo cTONOpPHOE C NasbLem 1
21 P160-031 | WTtndT ctonopHbin M20x31-21 1
22 P160-032 | OdebanaHc (Beaywmi) 1
23 P160-033 | LUnoHka 8x7x25 1
24 P160-034 | Ban gebanaHca (Beaywmit) 1
25 P160-035 | LUnoHka 12x8x50 1
26 P160-036 | LUnoHka 12x8x20 1
27 P160-037 | LecTepHn (Begywasn) 1
28 P160-038 | OebanaHc (Begomblit) 1
29 P160-039 | Ban aebanaHca (Begombiii) 1
30 P160-040 | NnacTMHa NpUKMMHaA wectepHU (nes/npas) 2
31 P160-041 | LecTepHn (Begomas) 1
32 P160-042 | Kopnyc mexaHu3ma peryampoBKM Xoaa 1
33 P160-043 | MNMpoknagka 1
34 P160-044 | KpbliwKa mexaHU3ma peryinpoBKu xoaa 1
35 KS-05-1 Waiba npy*nHHaa M5 3
36 KS-B5-10 | BonTt M5x10 3
37 P160-045 | Kopnyc BnbpaTopa 1
38 P160-046 | Maney nepeKknOYEHMA HANpPaBAEHMA BPALLLEHUA 1
39 P160-047 | Ban nepekntovyeHUA HanpaBieHUA BpaLLeHna 1
40 P160-048 | MydTa c enobom 1
41 P160-049 | Llanba meaHana 5x32x2.5 1
42 KS-05-1 LWaliba npy*KnHHaa M5 1
43 KS-B5-10 | bonT M5x10 1
44 P160-050 | Poratop 1
45 P160-051 | Pbiyar 1
46 P160-052 | CronopHoe Konbuo 3
47 P160-053 | KpoHLTelH Tpoca peBepca 1
48 KS-10-1 LWaliba npy*nHHaa M10 2
49 KS-B10-30 | boaT M10x30 2
50 P160-054 | Mpy*KunHa 1
51 P160-055 | MoawunnHmk 16008 2
52 P160-056 | Mpobka M12x1.25x10 2




